(4) DJ-1 Total No. of Questions : 3 Total No. of Printed Pages : 4
Write a paragraph of about 150-200 words an any one of

the following :- '
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(1) Rome was not built in a day,
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(ii) All is well that ends well.

(1ii) Slow and seady wins the race.

5. Write a report on the cleanliness movement that you have English
observed during the last year. . Paper - B-101
OR " o . -
Time : 3 Hours] [Maximum Marks : 35

Write a report an'the mevement of the compulsory duty 1o .
Note :- Attempt all the questions.

vote in selections, .
) SECTION -'A' onlinebu.com

1. Scleet the correct answer from the words given in bracket.

(any five) :- 1x5=5
(" Twaslll 1 did not go to college.  (still, so)
+4++ (i) Goldis one of most precious metals,

(the, a, an)

(iii)  The train had already passed [ reached the
, station. (as, when)
Copies 3500 :
(iv) Oncofyou _ done this blunder. (have, has)
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{am, 1s)

(V) Ill___

(vi)  Atpresent I am living

d pronoun.

Bhopal. (at, in)
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the accident

(of, in)

(vii) Itis unfertunate that he died

SECTION - ‘B;
2. Give shortanswer to any three of the following questions :-
' 3%3=9
(1) Why does Keats say, "My head aches a drowsy num
blness pouns my sense” 7
(b Cmnnlcnl on the mystic. Phelosphy of RN, Tagore,
(¢) What does the story of Mahabharat teach us,
(d) Comimenton thf: role of lord Krishna in the Mah:!hlmn.
(e) What did we get from independence according to 1,
[.. Nehru ? '
() What is an Ode ?
SECTION -'C"
3. Read the following passage carefully and answer the ques-
tions given at the end :-
The Indian education is at cross roads. India has a

realtively young population with over five hundred mil-
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lion citizens under utility. The demand for education and

« the recogination that it is intial for personal advancement

+and empowerment, has now penestrated all levels of so-

ciety. With the economy-projected to grow at an avernge
of light precent. The demand for skilled labour is ex plod-
ing. The transmition from an agl‘al:ianfrural economy to
an urban/industrial economy can be forficted only by edu-
cation. The detal over the choice between education on
the one hand, and tertiary on the other is a spurious one.
India needs both solvent primary education giglinebi.com
tive higher education.

Quecstions :- :

(i) Why docs the writer say that Indian education is at

cross roads ?

(ii) Tlow can education helps Indian society ?

(iii) What kind of education is necessary for India ?

(iv) What is the topic of the spurious debate ?

(v) Give a sutable title to the passage ? '
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